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X5
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LN(PL)= A+B1x LN(X1)+B2xLN(X2)+B3x X3+ B4xLN(X4)+B5xLN(X5)
+B6x X6+B7x X7+B8xLN(X8)
LN()
PL /
A
Bl B8
X1
X2
X3 250m 1 0
X4 m
X5 %
X6 =1 =0
X7 =1 =0
X8 %



B1 -0.298 -0.095
B2 -0.261 -0.208 -0.281
B3 0.092 0.060 0.094
250m
B4 m 0.140 0.200 0.115
B5 % 0.172 0.090 0.048
B6 =1 =0 0.267 0.088 0.120
B8 % 0.123
B1 -0.193 -0.149
B2 -0.155 -0.240
B3 0.150 0.052
250m
B4 m 0.118
B5 % 0.183 0.130
B6 =1 =0 0.149
B7 =1 =0 0.075 0.173
B8 % 1.362 0.752
A
X8

A=LN(PL)-BL1xLN(X1)-B2xLN(X2)-B3x X3-B4xLN(X4)-B5xLN(X5)
~B6x X6-B7xX7-B8xLN(X8)



exp(X3* N x54)*
pLA = pL& x| &P «
exp(X 3® X5°

PLA /

PL® /

X34 250m 1 0
X 38 250m 1 0
X 54 %

X 58 %
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RE, = PL, x0.04
RE, i 1
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